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OO00*0 00000 O #includevoid print(int s[]).int judge(int
c[]).int j=0.void main(){ static int
sweet[10]={10,2,8,22,16,4,10,6,14,20}. /*00 0O OO O O O O */int
1L,t[10],1. printf(" child\n"). printf(" round 123456 7 8 9 10\n").
pPrintf(" ..o, \n"). print(sweet). A0 0O 00O OO0
O OO */ while(judge(sweet)) AU O 0O O0OO0OOOO0OO*
{for(i=0.iif(sweet[i]%2==0) /0 0D 0O 00O OO OO*
t[i]=sweet[i]=sweet[i]/2.else O O O O O O10000 0O O*
t[i]=sweet[i]=(sweet[i] 1)/2. for(I=0.I sweet[l 1]=sweet[l 1] t[I].
sweet[0] =t[9]. print(sweet). A0 U OO0 U0 OO0O0OOOOO
(1 */ }}int judge(int c[]){ int i. for(i=0.i if(c[0]!=c[i]) return 1. /*[]
0000 1% return 0.}void print(ints[D A0 0000 OO O O
O O */{intk. printf(" -",} ). for(k=0.k printf("\n").} *0 O 0O O
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